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Traveling Salesman Problem (TSP)
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Abstract

This project aims to study and measure the efficiency of heuristic methods for
solving traveling problems (TSP) using Clark-Wright Saving Heuristic and Farthest Insertion
Heuristic. The two sets of problems of 10,20,and 30 nodes are simulated, and then lingo
solves them to find the best solution for each problem to compare the effectiveness of
the method .It was found that in the solution Clark-Wright Saving Heuristic the results of all
problems were greater than the average 19.33% of the best results obtained with the
Lingo program and solving Method Farthest Insertion Heuristic the results of all problems
were greater than the average 26.60% of the best results obtained with the Lingo program
.The experimental results ,it can be concluded that Method A is a suitable method for

solving the traveling salesman problem.



